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40D _q =
DV =(2)=
(DY +(-6) =
(—8) D — 5=
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(6" = (=7) =
4 +(-9) =
(-8 +2=

10° +(-3) =
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30D — (—5) =
(—8) P +7=
(-8)" +(-8) =
(3)" —(=6) =
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A0 —1= ()
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1

D)V +(=6) = (-7)
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(8D =5= ()= (59

5 =5 = (o) = (-4
O -(n-" -6
#+(9=(9)

(—8)> +2 =66

10° +(=3) = (-2)

52 -1=24
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244 1
(_2) + = — = R
R TR T
10° -2 =(-1)

_ 51 1
(-10)"+ (=5) = (-75) = (-57)

(—10)*> — (=7) = 107

16 1
(_1)_ - = — = —
3 (—5) 3 5 3

449 1
— (_2)_|_ — —
()T +T= =T

(—8)" +(=8) = (-7)

(—3)? — (—6) = 15
D 4 (—8y = (=2 = (—4>
60+ (=5)=( 6) (46)

(—5)° +9=134
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